Приложение 3 
	Правильные ответы 

	№ вопроса
	Правильный ответ
	Количество баллов

	1
	9000
	1

	2
	715
	10

	3
	1
	3

	4
	7
	1

	5
	0,94
	5

	6
	6720
	7

	7
	г
	2

	8
	4
	1

	9
	7
	1

	10
	72
	15

	11
	5 СС
	2

	12
	35, 10, 65
	2

	13
	36
	3

	14
	4^4^4
	2

	15
	8
	10

	16
	15150
	5

	17
	13
	5

	18
	A=1, B=0, C=1
	2

	19
	13
	3

	20
	24
	15

	21
	понедельник
	2

	22
	23
	3

	23
	3
	3

	24
	12
	7

	25
	8
	3

	26
	2
	3

	27
	422
	7

	28
	55
	3

	29
	12
	5

	30
	81261051112
	10

	31
	30
	7

	32
	16
	2

	33
	12
	10

	34
	Yes+o
	10

	35
	b:=a=c;
	10

	36
	667
	5

	37
	5
	5

	38
	5
	7

	39
	3584
	2

	40
	17
	1

	MAX возможный балл
	200



